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MA 161 EXAM 2 SPRING 2010
1, forz <0
L Let f(z) = #2% for0<sz<m
x, for x > .

Which of the following describes the numbers at which f is continuous?

A. f is continuous at all numbers except 0 and .
B f is continuous at all numbers except O.
@ f is continuous at all numbers except .
D. f is continuous at all numbers in (—o0,0) U (7, 00).

E. f is continuous at all numbers.
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2. Evaluate mli_)ngo(\/ 1622 + z — 4x). m ~oyx
A. oo da | Vi L X
(B3 (46X |
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C. - ~ { f / 3
° S N T Y
D. 0 [Cx ¢
E. The limit does not exist.
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3. If the graph of g(z) is given by
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¥ =4(x)

F 1
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which of the following is most like the graph of ¢'(z)?
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4. If f(z) = z® + 7 what is f/(2)7
A- 3 b 8'\/§ of
B. 3—4v2
C. 12—-1v2

(o2~ 1 -

B 12— —

V2

5. At what values of z does the graph of
tangent?

-5 and 4
5 and —4

=5 a =
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y = 223 + 32? — 120z + 1 have a horizontal
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8. Compute d_0 (m) .

A —secl e
') secd +tan ( )
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(secO + tan6)? . <
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" (sec + tan6)? it
tand
" secf +tan6
—tand
" secf+tan6
9. If f(z) = (v/222 + 1 — 2)®, compute f/(2).
» 7, 5,
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10. If the curve C is defined by z2y3 + 2 — y? = 5, find the slope of the line tangent to C
at (2,1).

A 3 - ) N,
2 Zﬁy + o - 5>f Y + ( ~ ”Z,y',y”/::@
B. -2
— 1
Ch\—= ( ; ) - 2 ’
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11. Computei L .
dx \Inz (
- (
1 : 2 —
A ——w = — ,
In x)? ( ftﬂé) ’ " 7.
( 1) %(é@z WE
B. C22Inz
1
C z?(Inz)?
D. 1
zlnzx
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12. If z(t) = (2t% + 2)3/2 denotes the position of a particle in meters and ¢ is measured in
seconds, compute the acceleration when ¢ = 1.

A. 6 m/sec.? N : z
B. 12 m/sec.? X g ’ / 2t 2 ) S
C. 24 m/sec.? b
D. 8 m/sec.? - Gt /2.{L (”Zj
E.|18 m/sec.? o . |
2 Mt




